Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b* gy

System: HGB1 HRS27_96_D65_00% O0gx, .. “max (rgb*) ~ min (rgb)

Erge?[gf ;srgf;;czlzag' 301@)3‘573?“' e
ab,¢=[33, 98, 150, 227, 301, (R

haber[26, 92, 162, 217, 272, 3257 1), 90" WH=min (rgb*)=1 -d*

hap (26, 92, 162, 217, 272, 3380G  JOOG rabs=W* * 0.5C g+

a%1gp+=C"rg+ €OS hy
2¥1gh =Crgpe SN gy

relative Buntheit
a* g+




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b* gy
System: HG81_HRS27_96_D65_00%_O1:«
Ergebnis: ¢* gp+ =C*jap+; t*rghr =t jan*
hap ¢=[33, 98, 150, 227, 301, 350]
hap eF[26, 92, 162, 217, 272, 327]
hap 126, 92, 162, 217, 272, 329_100(_}]00(3‘ rgb* =W* + 0,5C* g5

rgb*=Max (rgb*) — min (rgh*)
n*=1 - max fgh*)=1 -i*
D*rgbr wr=min (rgb*)= 1 -d*

a%1gp+=C"rgp+ €OS py
g1 =C g SN gy

relative Buntheit
a* g+




Beziehungrgb* und relative Buntheit c*.gp+ oder Buntheit a* g+, b* gy

System: HGB1 HRS27_96_D65_25% O0gs, .. “max (rgb*) ~ min (rgb)

Erge?[gf ;srgf;;czlzag' 301@)3‘573?“' P = (= A =
ab,¢=[33, 98, 150, 227, 301, (R

haber[42, 109, 175, 230, 286, 543],, 90 WH=min (rgb*)=1 -d*

han &=[26, 92, 162, 217, 272329} 100G rgbs=W* + 0,5 g

% 1gpr=C"rg+ €OS hy
0¥ gt =Crgpe SN g

relative Buntheit
a* g+




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b*rgpx

System: HGB1HRS27_96_D65_25% Olgs, .. “max (rgb*) - min (rgb)

Erge?[gf ;srgf;;czlzag' 301@)3‘573?“' e
ab,¢=[33, 98, 150, 227, 301, (R

haber[42, 109, 175, 230, 286, 3457 907 WH=min (rgb*)=1 -d*

han (26, 92, 162, 217, 272,329] 300G rgbs=W* + 0,5 g

B a%1gpr=C"rg+ €OS y
v

relative Buntheit
a* g+




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b*rgpx
SRR H?Sl HTSN ?6 D6S_S0% Ooc*vgb~‘max (rgb*) — min (rgb*)
reo s oo L= i
ab,¢=[33, 98, 150, 227, 301, b

haber-[59, 127, 189, 244, 300, 557], 90 WH=min (rgb*)=1 -d*

hap, (26, 92, 162, 217,272,329]  JOOG rghs=W* * 0.5C gp-

a1 =C* g+ COS hp
V¥ ighs =C*rgb+ SIN hapy

relative Buntheit




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b*rgpx
systim HGB1_HRS27_96_D65_50%_Olos, . ~max (1gb*) - min (rgb*)
R
Nap, o= [

hap e=[59, 127, 189, 244, 300, 357 rgb* w*=min (rgb*)= 1 —d*

han, 126, 92, 162, 217, 272,320]  JOOG rab =W* + 0,5C* gpe

% gpr =C*rgp+ COS hyp
¥ 1gb =C*rgb+ SIN hapy

relative Buntheit
a* g+




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b* gy
System: HG81_HRS27_96 D(;S 75%_O0c+, .. =max (rgb*) — min (rgh*)
rgb* =" lab* n*=1 - max fgb*)= 1 —i*

Ergebnis: c* g« =C*jap+; t*
33, 98, 150, 227, 301, 350)
ab o1 ! b¥rgbt wr=min (rgb*)= 1 ~d*

ho o
hap 7175, 144, 203, 258, 314, 371]

ab,6[26, 92, 162, 217, 272, 329] 150E rgor=W* +0,5¢% g

a* g+ =C* (g COS hyy

¥ 1gb*=C*rgb+ SIN hap

:ziziveBuntheit
ar
a*rgb*




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b* gy
rgb*=Max (rgb*) — min (rgh*)
n*=1 - max fgh*)=1 -i*
b*gb* wr=min (rgb*)= 1 -d*

System: HG81_HRS27_96_D65_75%_O1:«
Ergebnis: ¢* gp+ =C*jap+; t*rghr =t jan*
hap (33, 98, 150, 227, 301, 350]

Nab e=[75. 144, 203, 258, 314, 37:0)
hap, (26, 92, 162, 217,272,329]  J0O@ gty =W* * 0.5C rgp-

a%1gp+=C"rgp+ €OS py

i 1gb+ =C*rgbe SiN My

ielative Buntheit
a* g+




